TCS/CAT-1/2017
Chemistry Aptitude Test - 2017 |

Stage -1 (for Class |X)
Full Marks : 50 Time : 1-30 hours

Answer all the questions.There are 30 MCQ (1-30) in Group A, each of 1
mark. Each MCQ has been provided with four options. Shade the correct
option with ball point pen in the appropriate box in the Answer-script. Multipie
shading is liable to cancel the relevant answer. 0.25 mark will bededucted
for wrong answer to each MCQ. Group B Contains 10 questions (31 - 40)
each of 2 marks - answer these questions in the space provided in the
Answer-script.

Group - A

Muitiple Choice Questions : All 30 Questions 30x1=30
(1) Which of the following is a pure substance?

(@ Rum *mief?)

(a) Milk (7¥) (b) ice-cream (SEFTEIN )

(c) iron (¢=Ti2Y) (d) honey (¥¥)
(2) Fifth state of matter is - (TR ALT T =251 —)
| (a) Plasma state (ISl S<F))

(b) Bose Einstein Condensate (@FA-HRABIZA W\L\bdp‘lﬁ)

(c) Colloidal state (FTIT S1<7) (d) None of these ((FIH(G 7¥)
(3) Which element is named after the sun?

(TR AP (I GNTAR AN T AL 2)

(a) Sn (b) Sr

(c)H (d) He
(4) Large quantity of CNG can be stored in small cylinders due to

which property of CNG?

(1 4UR Toafefe I3 CNG (=15 (R6 FifFena oz 2)

(a) low density (T8 ¥9Y%) (b) easy availability (312 To191)

(c) high compressibility (Bt ALFGAETS!)

(d high inflammability (St ZegaieisTo!)

(1)




(9)

(6)

(7}

(8)

(9)

Which of the following change does represent sublimation?
(R AfFISwT Toiren T 2)
(@) Solid — Liquid (I — ©eT)
(b) Solid - Gas (I — )
(c) Liquid — Gas (S — 5i717)
(d) Gas — Solid (5717 — Fo=)
Melting is an — (51517 &b ------------- Afe 1)
(a) Endothermic process (S19{2l13})
(b) Exothermic process (S!?{Tb1)
(c) both an endothermic and exothermic process
(SI9LND) G2 GIATID! TST3)
(d) none of these (= «F)
Atomic number of an element is 20. Its valency is -
(P (e TS F5F 20 GNeiod @erst —)
(a) O (b) 1
(c) 2 (d) 3
Number of electrons in N is (N* (S {5194+ SI(E —)
(a) 8 (8) (b) 6 (6f) (c) 4 (4%) (d) 10 (105)
1u is regarded as mass of - (1u 09 ©F JAF)
(a) 1 atom of H (&b H—=[TF ©3)
(b) 1/12 of an atom of C—12 (430 C—12 2[4 ©LIF 1/12)
(¢) 1/16 of an atom of O—16 (46 O—16 wIFNYT SIIF 1/16)
(d) 1.66 x 10 kg

(10) A saturated solution can be made unsaturated by —

(G TG TRT TT~& FAIF BAE 351 — )
(a) adding more solute (SfsR& @R (W% F()

(b) decreasing temperature (SI[al FCA)
() increasing temperature (Sioisal AfETA)
(d) None of thses ((FI<G 77)

(2)

3 | OITHa oRFig 1 21l 23 2)
(35) Why a solution is regarded as a mixture but not as a compound?
(GRS frerzmTel sio <41 27, 5% (19 A0 A, (@2 IR 36 1)
(36) The atom of an element X has only two electrons in its M shell.
State (i) its electronic configuration and valency (ii) whether it is

a metal or a non-metal (iii) write down the molecular formula of
it's chloride.

(X’ CTICEE ‘M 0 w11 i 20eT0g SR | (TE04 (i) BTG« [y
7 (ii) a6 & 415 21 =4rs ¢ (i) <3 @RRTTa WS AT G1)

(37) How many grams of carbon monoxide will have the same

number oxygen atoms as 22g of carbon dioxide?
(2251% TR TR SRS TOE] SIS A0 I, 6 AW
I NEIRHELS TOGTE] WA w0 AT ?)

(38) Anelement has two isotopes X'® and X" If the average atomic
mass of the element be 16.24, calculate the percentage of the

two isotopes of the element. |

(@2 (T b B A 78 X693z X' (w03 Arasie<as

©F 16.24 T3, @ 716 WERTAEITAR *1owal oAfase 77 32 1)
(39) You are supplied with two water samples A and B which bolls at

100° C and 100.5° C respectively. Which A or B would freeze at

O3C? Justify your answer.

(CHISTE A GAg B b SeTa 3 (el 25 — ST03 “PHa T TUFN

100% C 932 100.5° C «r#a ST (S0 O°C Sy T5% &4 2

A R 74 |
(40) Arrange the following in terms of increasing number of atoms

AN ARG A TG HEe —

(a) 18g water (18g T3T)

(b) 169 oxygen gas (16g HCE 97HA)

(c) 2g hydrogen gas (2g 3ETHITE 5i71)

(¢) 11g carbon dioxide gas (11g T4« BIZ SRAZG 5{71H)

(7)




(a) its.charge is fixed (3217 Sy %)
(b) its mass is fixed (324 <7 FA)
(c) cathode ray consists of electron (32 FTATC I TomIw)
(d) itis present in atoms of all elem'ents.
(221 A (A 2ATTGCS ST )

(29) International “Mole Day” is observed every year on
(TGOS “ (et W™ (Mole Day) SwRifore 27 @fs I3 —
(a) 23 October (23 W([A)  (b) 23 December (23 fTF=3)
(c) 23 February (23 (@==ifd)  (d) 23 August (23 S975)

(30) The correct sequence of number of proton, neutron and electron

in .CI*® atom is given by —
(,,CI% oTaeTe (A6, [HEGw €3 BreRgA HAR CoifFfea Ridears 2a1)
(@)17,18,17 (b)17,17,18 (c) 18,17, 17 (d) 17,17, 17
| Group -B
Answer all 10 Questions as directed 10x2=20
(31) (a) Name the compounds - (i) Mg,N, (i) Na,SO,
(G 767 919 (=12 8 (i) Mg,N, (i) Na,SO,)
(b) Write the chemical formula of two Bertholoid compounds.
(%% ATLTASIT o TEA! (TR 1)
(32) How would you separate the components of gun powder.
(mix. of C, S, KNO,)?
(fFsmet At (C, S @32 KNO, 93 faile}) BomisesTett 7§20 $903 2)
(33) 5.3g anhydrous sodium carbonate [M = 106] is dissolved in

100 ml water. Calculate molar concentration of the solution.

(5.3g SIY GRS S [M = 106] 100 ml (e wAg® T

%6 | BRCEA CEAIF oy (el 31 1)

(34) .H® and ,He® are not considered as isotopes - explain why?
What are they mutually called?

(H® a3 He® 2[R JECAGH (rglfas) 98 — &, IR
(6)

(11) Which of the following cannot sublime ?
(I #mifD TIfow 231 2)
(a) lodine (MTAMG) (b) Nal
(c) NH,Cl (d) Camphor (?ﬁ“{ﬁ)
(12) Correct formula of hydrated copper sulphate is —
((VE AT AT G ACFS o] —)
(a) CuSQO, (b) CuSO,. H,O
(c) CuSO,.3H,0 (d) CuSO,. 5H.0
(13) Which is the correct formula of a chemical compound?
(@G @0 IAEeT @ AT AT ?)
(a) AICI, (b) NaSO,
(c) Ca,PO, (d) SIO
(14) Actual weight of an oxygen atom is —
(90 ST 2/awied ©F 75— )
(@)1g (b) 8
(c) 169 (d) 16u
(12) The molecular weight of the gas obtained by strongly heating
limestone (CaCoO,) is —
(FAAF (CaCO, ) TH SN TEY FLA (T 57 TLT 23,
O F ©F 25— )

(a) 44 (b) 44 g
(c) 44amu (d) 22

(16) 5 moles of oxygen gas means ------- g of oxygen?
(5 Catel SfRTe e JAY ----- - --g SHCE)
(a) 5 (b) 80
(c) 16 (d) 180

(17) Ratio of mass of carbon and oxygen is carbon dioxide is --
(FEF O SFHECE, P 932 WRAHAD [ TGS 6 — )
(@) 1:2 (b) 3:8
(c)8:3 (d) 2: 1
(3)




(18) At one atmosphere pressure, boiling point of water Is —
(4T IFNSAR BICA TLETR “Fos —)
(a) 100K (b) 373K (c) OK  (d) None of these
(19) Which of the following cannot produce hydrogen gas with dilute
sulphuric acid?
(S A SHFTE 705 RIFTE Ned (@I 419 RTGITSH 57
TeoF (I 1 ?)
(a)Ag (b) Fe (c) Zn (d) K
(20) Which is the correct statement for absolute temperature —
(71 SNl 790 AfF 92 (@0 2)
(a) liquid converts into gas (SF& T 2{fR9© )
(b) density of liquid becomes zero (S I7Y *[+] ZH)
(c) particles becomes motionless (AT R TRt s o2 27)
(d) none of these (BN FF)
(21) Which has the maximum number of molecules?
(TR @ Y (IO ?)
(a) 2g hydrogen gas (2g 22CGITS 9713 ) |
(b) 22g carbon dioxide (22g FI< TIZ THTG)
(c) 7g nitrogen gas (7g FIRTGITSH 577)
(d) 24g oxygen gas (24g RS 5i7)
(22) The size of particles in the colloidal state is in the region —
(PG T I P ZA —)
(a) > 108 cm (> 10® cm )  (b) < 10® cm (< 10 cm (3If¥)
(c) 107 - 105 cm (107 - 105 cm GA)
(d) None of these (b «1¥)
(23) Burning of candle is an example of — ((ITIA Wa QF(0)
(a) Physical change ((STS 2f{a$w)
(b) chemical change (AT AFITER)
(c) endothermic change (112} AfFad+)

(4)

(d) both physical and chemical change (TS 433 INAH
AfITET TeT3)
(24) Fractional atomic mass of an element is due to —
(G AR ©F S 26T Ty wiA —)
(2) isobar (ZCIRAR) (b) isotone (SIRTANHE)
(c) isotope (SHETHILHIA)
(d) presence of excess proton in the nucleus

(Refram wfsaes (2iow)

(25) Samples of water obtained from all sources has got the same

mass ratio of hydrogen and oxygen. This fact is in agreement
with the law of —
(T (AT AN e G ZRGIT G2 AT SISl
N | G2 TGO (I A0S FAILA I ?7)
(a) conservation of mass (SIF SIA#ST 7T)
(b) mulitiple proportion (BFATTHE )
(c) reciprocal proportion (Rt =ir® =)
(d) definite proportion (¥R 3H)
(26) Balancing of chemical equation is guided by —
(aiafas FRFACEHT ANFS! @0 B0 AN T AW 2)
(a) Daiton’s Atomic theory (TIFGINT ARTIGRS ©F)
(b) Law of Conservation of mass (®3d SfF=if*si 34)
(c) Avogadro hypothesis (SHITSINTG! 4FH)
(d) Law of Conservation of Energy (*if&2 Siftaii*iel 34)
(27) Alpha particle experiment proved the existence of —
(a-°1 famgae KR A (TN TS awiae 27 2)
(a) proton (C2AB) (b) electron (RTEFGA )
(¢) nucleus (WSfFMH)  (d) neutron (INEEH)
(28) Electron is called a fundamental particle, because —
RTERGAE (T 3 01 T | (1, )
(5)
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